
L2SV

1    FORTA   

02-00059-01-en	                                                                                                                                                                                                                                                                                                                                      March 2010  sp

Linkage for Satchwell valves - Installation

 
LINKAGES’ COMPONENTS

(all the following parts are included in the bag)

QTY         Position
                 Number

USE WITH VALVES (Models - DN)

VSF - 15,25
MJF - 20,25
MZ, VZ - 15÷50

VSF - 20,32÷50
MJF - 15,32÷50

VZF
MZF
65÷100

VZF
MZF
125÷150

1 A* Neck adapter for 1  3/8” X X

1 B* Neck adapter for  1  1/4” X X

1 C Lock nut for 1 3/8” X

1 D* Stem adapter for 1/4” (Short, L=55 mm) X

1 E* Stem adapter for 1/4” (Medium, L=70 mm) X

1 F* Stem adapter for 1/4” (Long, L=109 mm) X

1 G* Stem adapter for 3/8” (L=55 mm) X

2 M8 nuts X

1 3/8” Stem nut X

1 1/4” Stem nut X X X

* Letter stamped on the component


